

Prove that

$$\textcircled{1} U_x = U_{x-1} + \Delta U_{x-2} + \Delta^2 U_{x-3} + \dots + \Delta^{n-1} U_{x-n} + \Delta^n U_{x-n} \quad \text{5(1)}$$

Proof: We have,

$$\begin{aligned} U_x - \Delta^n U_{x-n} &= U_x - \Delta^n E^{-n} U_x, \quad \text{interval of difference is one.} \\ &= U_x - \frac{\Delta^n}{E^n} U_x \\ &= \left(1 - \frac{\Delta^n}{E^n}\right) U_x \\ &= \frac{E^n - \Delta^n}{E^n} U_x \\ &= \frac{1}{E^n} \left[ \frac{E^n - \Delta^n}{1} \right] U_x \\ &= \frac{1}{E^n} \left[ \frac{E^n - \Delta^n}{E - \Delta} \right] U_x, \quad \because 1 + \Delta = E \Rightarrow 1 = E - \Delta \\ &= E^{-n} \left[ E^{n-1} + E^{n-2} \Delta + E^{n-3} \Delta^2 + \dots + \Delta^{n-1} \right] U_x \\ &= \left[ E^{-1} + \Delta E^{-2} + \Delta^2 E^{-3} + \dots + \Delta^{n-1} E^{-n} \right] U_x \\ &= U_{x-1} + \Delta U_{x-2} + \Delta^2 U_{x-3} + \dots + \Delta^{n-1} U_{x-n}. \end{aligned}$$

Hence,

$$U_x = U_{x-1} + \Delta U_{x-2} + \Delta^2 U_{x-3} + \dots + \Delta^{n-1} U_{x-n} + \Delta^n U_{x-n}$$

$$\text{(ii) } U_0 + {}^x C_1 \Delta U_1 + {}^x C_2 \Delta^2 U_2 + \dots = U_x + {}^x C_1 \Delta^1 U_{x-1} + {}^x C_2 \Delta^2 U_{x-2} + \dots$$

$$\text{R.H.S.} = U_x + {}^x C_1 \Delta^1 U_{x-1} + {}^x C_2 \Delta^2 U_{x-2} + \dots$$

$$= U_x + {}^x C_1 \Delta^1 E^{-1} U_x + {}^x C_2 \Delta^2 E^{-2} U_x + \dots$$

$$= \left[ 1 + {}^x C_1 \Delta^1 E^{-1} + {}^x C_2 \Delta^2 E^{-2} + \dots \right] U_x$$

$$= \left( 1 + \Delta^1 E^{-1} \right)^x U_x, \quad \text{(By Binomial theorem).}$$

$$= \left( 1 + \frac{\Delta^1}{E} \right)^x U_x$$

$$= \left( \frac{E + \Delta^1}{E} \right)^x U_x$$

$$\begin{aligned} (1+x)^n &= 1 + {}^n C_1 x \\ &+ {}^n C_2 x^2 + \dots \\ &+ {}^n C_n x^n \end{aligned}$$

$$\begin{aligned}
&= \left[ \frac{E + (E-1)^2}{E} \right]^x U_n, \quad \because 1 + \Delta = E \Rightarrow \Delta = E-1. \\
&= \left[ \frac{E + E^2 - 2E + 1}{E} \right]^x U_n \\
&= \left[ \frac{E^2 - E + 1}{E} \right]^x U_n \\
&= \frac{1}{E^x} [E(E-1) + 1]^x U_n \\
&= E^{-x} [E\Delta + 1]^x U_n, \quad \because 1 + \Delta = E \Rightarrow E-1 = \Delta \\
&= E^{-x} [1 + {}^x C_1 E\Delta + {}^x C_2 E^2 \Delta^2 + \dots] U_n \\
&= [E^{-x} + {}^x C_1 \Delta E^{1-x} + {}^x C_2 \Delta^2 E^{2-x} + \dots] U_n \\
&= U_{n-x} + {}^x C_1 \Delta U_{n+1-x} + {}^x C_2 \Delta^2 U_{n+2-x} + \dots \\
&= U_0 + {}^x C_1 \Delta U_1 + {}^x C_2 \Delta^2 U_2 + \dots \\
&= \text{L.H.S.} \quad //
\end{aligned}$$

$$(iii) U_0 + U_1 + U_2 + \dots + U_n = {}^{n+1} C_1 U_0 + {}^{n+1} C_2 \Delta U_0 + {}^{n+1} C_3 \Delta^2 U_0 + \dots + \Delta^n U_0$$

$$\begin{aligned}
\text{L.H.S.} &= U_0 + U_1 + U_2 + U_3 + \dots + U_n \\
&= U_0 + EU_0 + E^2 U_0 + \dots + E^n U_0 \\
&= [1 + E + E^2 + \dots + E^n] U_0
\end{aligned}$$

$$\begin{aligned}
&= \frac{1 [E^{n+1} - 1]}{E-1} U_0, \quad (\text{sum of A.P.}) \\
&= \frac{(1 + \Delta)^{n+1} - 1}{\Delta} U_0, \quad \because 1 + \Delta = E
\end{aligned}$$

Here,  
 $a = 1$   
 $r = E$   
 $n = n$   
 $S_n = a \frac{r^{n+1} - 1}{r - 1}$

$$\begin{aligned}
&= \frac{1}{\Delta} [1 + {}^{n+1} C_1 \Delta + {}^{n+1} C_2 \Delta^2 + \dots + {}^{n+1} C_{n+1} \Delta^{n+1} - 1] U_0 \\
&= [{}^{n+1} C_1 + {}^{n+1} C_2 \Delta + {}^{n+1} C_3 \Delta^2 + \dots + 1 \cdot \Delta^n] U_0
\end{aligned}$$

$$= {}^{n+1}C_1 U_0 + {}^{n+1}C_2 \Delta U_0 + {}^{n+1}C_3 \Delta^2 U_0 + \dots + \Delta^n U_0$$

$$= \text{R.H.S.} \quad //$$

95  
v.v.f.

$$(iv) U_0 - U_1 + U_2 - U_3 + \dots = \frac{1}{2} U_0 - \frac{1}{4} \Delta U_0 + \frac{1}{8} \Delta^2 U_0 + \dots$$

\*

Proof:

$$\text{R.H.S.} = \frac{1}{2} U_0 - \frac{1}{4} \Delta U_0 + \frac{1}{8} \Delta^2 U_0 - \frac{1}{16} \Delta^3 U_0 + \dots$$

$$= \frac{1}{2} \left[ U_0 - \frac{1}{2} \Delta U_0 + \frac{1}{4} \Delta^2 U_0 - \frac{1}{8} \Delta^3 U_0 + \dots \right]$$

$$= \frac{1}{2} \left[ 1 - \frac{1}{2} \Delta + \frac{1}{4} \Delta^2 - \frac{1}{8} \Delta^3 + \dots \right] U_0$$

$$= \frac{1}{2} \left( 1 + \frac{1}{2} \Delta \right)^{-1} U_0, \quad \because (1+x)^{-1} = 1 - x + x^2 - x^3 + \dots$$

$$= \frac{1}{2} \left( \frac{2 + \Delta}{2} \right)^{-1} U_0$$

$$= \frac{1}{2} \cdot \frac{(2 + \Delta)^{-1}}{2^{-1}} U_0$$

$$= (2 + E - 1)^{-1} U_0, \quad \because 1 + \Delta = E \Rightarrow \Delta = E - 1$$

$$= (1 + E)^{-1} U_0$$

$$= (1 - E + E^2 - E^3 + \dots) U_0$$

$$= U_0 - U_{0+1} + U_{0+2} - U_{0+3} + \dots$$

$$= U_0 - U_1 + U_2 - U_3 + \dots$$

$$= \text{L.H.S.} \quad //$$

\*

$$(v) \Delta^n y_x = y_{x+n} - {}^n C_1 y_{x+n-1} + {}^n C_2 y_{x+n-2} - \dots$$

$$+ (-1)^n y_x$$

$$\text{R.H.S.} = y_{x+n} - {}^n C_1 y_{x+n-1} + {}^n C_2 y_{x+n-2} - \dots + (-1)^n y_x$$

$$= E^n y_x - {}^n C_1 E^{n-1} y_x + {}^n C_2 E^{n-2} y_x + \dots + (-1)^n y_x$$

$$= \left[ E^n - {}^n C_1 E^{n-1} + {}^n C_2 E^{n-2} - \dots + (-1)^n \right] y_x$$

$$= (E - 1)^n y_x = \Delta^n y_x = \text{L.H.S.} \quad //$$